A = IR — & (BeiET)

THDFR
5
No. DL PG T | B || A
()

1 T (R SRR 788 1] 4 [1,561.00
2 T (R AR 788 2|BEF[  211.00
3 B |51 H Z0mE |1296] 1| 4 [3,180.00
4 B |51 H At 1551 1| 4 [2,033.00
5 R [FIR [l 919| 1| JH [1,203.00
6 R [FIR [l 906| 1| JH [1,589.00
7 R [FIR [l 918| 1| JH [1,279.00
8 JEET N % 61| 1| 4B [ 598.00
9 JEE T R THE | 682 2| 4m |1,487.00
10 JEET IR Tk | 683 [LIk[ 1,028.00
11 e [HZH 314 | 2| H |2,132.00
12 JEYE T |BRAT 921 1| H [2,479.00
13 JEYE T |BRAT 921 2| H | 385.00
14 JEYE T |BRAT 923 2| H | 655.00
15 REWE T [BEILET 1511 16| M [2,558.00
16 REWET (BRI 1511 28| H [1,335.00
17 FEVAT BT 56 2|7 ¥ 459.00
18 FEVAT BT 210 1| H | 2046.00
19 FEVAT BT 210 2| H | 608.00
20 FEVAT BT 210 | 3| H | 561.00
21 R |51 H 1280 1| JH [ 474.00
22 JEETT R 1261 1| 4@ | 626.00
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A = IR — & (BeiET)

+HIDOFE R
B AR
No. LK K T BE|EE A
(nd)
23 BEAETT  [TRHE 1262 1| 4 | 360.00
24 BEAET | 1263 1| 48 | 485.00
25 BEATT | NBEEF 875 1| 4| 269.00
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